
Time: 10 Minutes Paper Math 8 (T-1) Total Marks: 10

1st Month, 4th Week, 2nd Day Sub-domain III. Exercise 1.10 (Complete)

Q.1. Choose the correct options.   (0.5x 6 = 3)   ŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,XXXX
(i) The length of a squared shaped box is 324cm. What is the

area of the box. ÌÌÌÌììììXXXXeeee""""»»»»ggggKKKKHHHHìììì???? 324 ZZZZqqqq----%%%%¹¹¹¹̂̂̂̂ÆÆÆÆeeee""""ÅÅÅÅMMMMðððð
(a) 102876cm² (b) 106998cm² (c) 104976cm² (d) 108976cm²
(ii) A rectangular field has an area of 18432 square metres. Its

width is half as long as its length. What will be its perimeter?

%%%%,,,,¢¢¢¢aaaaììììXXXXZZZZkkkkÅÅÅÅaaaahhhhZZZZððððÔÔÔÔMMMMðððð»»»»ÛÛÛÛììììXXXXZZZZkkkk»»»»ZZZZqqqq©©©©HHHHƒƒƒƒÇÇÇÇ???? 18432 ZZZZqqqq----
!!!!kkkk3333‹‹‹‹5555ÐÐÐÐöööö
GGGG

GGGGEEEE»»»»ggggKKKK
(a) 12m (b) 120m (c) 1200m (d) 130m
(iii)1444 trees stands in a row in a such way that the numbers of

rows is equal to the number of trees in a row. How many trees

are there in each row? ŠŠŠŠgggg||||####····ggggzzzzVVVV~~~~ZZZZkkkk§§§§bbbb9999}}}}÷÷÷÷āāāāZZZZqqqq----····gggg 1444

~~~~ZZZZãããã„„„„ŠŠŠŠgggg||||####÷÷÷÷ÎÎÎÎ····ggggzzzzVVVVÅÅÅÅ®®®®ZZZZŠŠŠŠììììXXXXZZZZqqqq----····gggg~~~~ÄÄÄÄŠŠŠŠgggg||||####÷÷÷÷????
(a) 35 (b) 36 (c) 37 (d) 38
(iv) If the side length of a square is 0.5m then its area is:

¢¢¢¢aaaaƒƒƒƒÂÂÂÂZZZZkkkk»»»»ggggKKKKƒƒƒƒÇÇÇÇ:::: 0.5 ZZZZ¤¤¤¤////ZZZZqqqq----%%%%,,,,ÆÆÆÆIIIIÅÅÅÅMMMMðððð
(a) 0.50m2 (b) 0.125m2 (c) 0.75m2 (d) 0.25m2

(v) The area of a square shaped field is 422500 sq metres. How
much string is required for fixing along the sides as a fence?

%%%%,,,,¢¢¢¢aaaaììììXXXXZZZZkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠ!!!!****hhhhÎÎÎÎääääÆÆÆÆaaaaXXXXDDDDggggÏÏÏÏŠŠŠŠgggg»»»»ggggƒƒƒƒÏÏÏÏ???? 422500 ZZZZqqqq----%%%%¹¹¹¹EEEE»»»»ggggKKKK
(a) 2400m (b) 2500m (c) 2600m (d) 2800m
(vi)The area of a rectangular field is 10092 sq. metres. Its length

is three times as long as its width. What will be its perimeter?

%%%%,,,,¢¢¢¢aaaaììììXXXXZZZZkkkkÅÅÅÅMMMMððððaaaahhhhZZZZððððÆÆÆÆ&&&&kkkkHHHHììììXXXXZZZZkkkk»»»»ZZZZqqqq©©©©HHHHƒƒƒƒÇÇÇÇ???? 10092 ZZZZqqqq----
!!!!kkkk3333‹‹‹‹5555ÐÐÐÐöööö
GGGG

GGGGEEEE»»»»ggggKKKK
(a) 462m (b) 460m (c) 466m (d) 464m

Q.2.  Answers the following questions. ŠŠŠŠgggg`̀̀̀ffffssssÎÎÎÎZZZZÑÑÑÑ]]]]ÆÆÆÆ����ZZZZ!!!!****]]]]ŠŠŠŠ,,,,XXXX
(i) Find that least number which, when subtracted from 109087, the

answer is complete square. (1x2=2)

~ÐÃy‚gLÐgN*°Ş̌&HYñā!*¹°Šå%,ƒ? 109087
(ii) A rectangular field has an area 28800 sq. metres. Its length is

twice as long as its width. What is the length of its sides? (1x2=2)

%,¢aìXZkÅMðÔahZðÐŠz²-ö
YNE

ìXZkÆZHqÅMðHì? 28800 Zq-
!k3‹5Ðö
G

GE»gK
(iii) The cost of ploughing in a square field is Rs. 2450 at the rate of

Rs. 2 per 100 sq. metres. Find the length of the side of the square.

gz9ìX%,Æ 2450 %,¢a~I`ä»yp 100 gz9° 2 Zq-%¹E~ó[
(1x3=3) IÅMð¥x™,X
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